Bearmach

PROCEDURE FOR FRONT SIDE STEP —
When front fuel tank is not fitted | o

A. Attach support stay (B}, single hole end to bracket () using bolt spring washer and nut, identical to fixings (Q,P.0).

2. Attach the bracket (A) to the two pre-drilled holes in No. 1 body outrigger, using bolt (F) spring washer (E) and riv-
st D.

3. Secure the step support (S) to the two pre-drilled holes in the sill channel using bolts (1), washers (H) and nyloc
nuts (G).

4. Attach support stay (B) to a suitable hole in step support (S) using bolt (C) spring washer (P) and nut (O},
Whan front fuel tank is fitted items 5, & and 7.

5. Remove outer fuel tanker mounting and fit support stay (K], single hole end in this position, using boit {(J) and the =

6. wﬁhuma}mmmwmmmm.ﬂmmmnousmwasnmmmmm ,
s

7. Aftach support stay (K) to a suitable hole In step support (S) using bolt (Q) spring washer () and nut (O).

8. Fit s+ ..o, assembly (N) to hinge eyes In support bracket, using hinge pin (L) and secure using washer, spring
washer and spit pin (M) &t each end.

' 8. Mark a position in the middle of the body sill paned and in line with the folding step. Drill a 4.5mm (3/167) dimater
hole for fixing tha rubber bufter.

10. Fit rubber buffer (W) to sill panel using screw (), plain washer (X) under screw head, plain washer (V), spring
washer (L) and nut (T), -

11. Fit spring (R) for step, to hole in bracket and extension on folding step.
12. Tighten all bolts and check folding step movement.

PROCEDURE FOR REAR SIDE STEP : .
1. Attach support stay (C) single hole end to bracket (A) using bolt, spring washer and nut (O,P,0). ‘

2. m%?mmmmmmmmm.zmquMf)mm@

3. Securs the s 1o the two illed hotes in the sill channel, using bolts (1), washers
wwﬁmpm[s] pre-drilled in channel, using 1), w H)

4. Attach support stay (C) to a suitable hole in step support (S) using bolt (Q), spring washer (F) and nut (0).

5. Fit side step assembiy (N) to in s bracket, using h and washer, spri
> i s hm;ﬂw upport ng hinge pin (L) and sacure using spri ng

6. Mark a position in the middie of the body sill panel and in line with the foidi . Drill a 4.5mm (3116") diameter
hole for fixing the rubber bufier. . e

7. F:dnmwmbuﬂwfmmslpmalmm.mnmmmmm,mmm.mmm

8. Fitspring (R) for step, to hole in bracket and extension on folding step.
9. Tighten all bolts and checkfolding step movement.

info@bearmach.com +44 (0)29 20856550 www.bearmach.com



B

earmach

FOLDING SIDE STEP HIT ...oocivens 1

COMPriSes: -

Step support 1 B564725D
Boit 516" LINF x 1* ) tixing step 2 SHe0s081LD
Plain washar support to 2 3\830L

Self locking nut 536" UINF ;lilct-mll 2 NVBORO41L
Support stay for front step 11 1/4° 1 S6a7a1D
Support stay for front step with side fuel tank 1 5647330
Bupport stay for rear side step 0° 1 5847320
Bracket support stay to chassis frame 1 5691970
Bolt 1/4° UNF x 7/8° ) fiing bracket to stay, 2 SHBDMOTILD
5 washar } and stay to step suppor 2 WMEB00D41LD
Nt 174" UNF ) bracket 2 NHBD4041LD
Bolt 516" UNF x 7/8" Support stay to ourigger 1 2852270
Bolt 1/4" UNF x T/8" fiding rear side stép suppon 2 SHB04071LD
Spring washer stay and brackel to chassis 2 WMB00041LD
MNut 174" UNF 2 NHe04D41LD
Bolt 1/4" LINF x 1 1/4* } fixbnng front side step 2 285211D
Spring washer } support stay and brackets 2 WMEDDD41LD
Ribe-niut 1/4° UNF } to chassis 2 5148290
Hinge pin for step 1 5091200
Plain washer } 2 WB110061LD
Spring washer fiodng hinge pin 1 WSe00061LD
Sp#t pin 2 RTCE00D
Spring for step 1 2643620
Rubber buffar 1 32027D
Screw 2BA x 58" j 1 77758D
Plain washer } ficing rubbar 1 4030LD
Plain washer } butier 1o 1 WCT02101LD
Spring washer } sill panel 1 WMTO2008D
Nut 28A } 1 RTCE08D
Stap } folding 1 NRC2341D
Mat ) step assy 1 S17977D
Rivet | B 307840D
Screw | 4. 7TBE9D
Washer ) 4  WM702001LD
Nut | .0" RTCE08D
NOTE;

When fitting this side step o easly models whech do not have pra-drilled in il channel or the
mmhmmmnmwmmu andm-tllmphllon-idfh
potitions of the holes to be drilled.

info@bearmach.com +44 (0)29 20856550 www.bearmach.com



